
Aire et Volume d’un Cône (E)
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 55,23 nm

h = 144,06 nm

•

1.

r = 22,80 km

h = 103,40 km

•

2.

r = 43,36 nm

h = 64,64 nm

•

3.

r = 57,76 nm

h = 95,19 nm

•

4.
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Aire et Volume d’un Cône (E) Réponses
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 55,23 nm

h = 144,06 nm

•

1.

Aire: 36.352,86 nm2

Volume: 460.174,04 nm3

r = 22,80 km

h = 103,40 km

•

2.

Aire: 9217,41 km2

Volume: 56.288,39 km3

r = 43,36 nm

h = 64,64 nm

•

3.

Aire: 16.509,23 nm2

Volume: 127.264,86 nm3

r = 57,76 nm

h = 95,19 nm

•

4.

Aire: 30.685,23 nm2

Volume: 332.563,29 nm3
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